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HE MEER EF 2 0.9 ha |HEEZEFHE 1.0 ha |[=A
FlE mr+mes| 2.5 ha |mE+mzsx| 3.8 ha |[=H
HE EHE X 1.1 ha |EHEX 4.5 ha |[=[H
By EHEF 0.3 ha |FEHIEFS 1.2 ha |[=ME
HE a1 8.7 ha |fEfE 10.3 ha [=[
EhE TB1E 1.7 ha |TB1E 1.7 ha |[=ME
HE W4 0.6 ha |WA%F 1.3 ha |=@
REE zotwotew| 0.9 ha |zoworrm| 1.1 ha [=H
e B55% ha &% ha [=f@ - &%
HE mesz+zom| 1.4 ha |mesz-zow| 1.8 ha [=fE
HE a1 9.7 ha |fEfE 9.7 ha | =M
By EHEF 2.4 ha |FEHIEFSL 3.0 ha | =M
RE s 1.0 ha |fEfE 2.1 ha |=M
EhE A4 0.8 ha |WAF 0.8 ha | =M
ZE mie+Bwszl 0.0 ha |mrE+mesx| 6.0 ha |[=H
RE mte+sesE| 3.0 ha [@me+mrsx| 5.0 ha |=fE
HE BE+fEE| 4.0 ha |[BE+fE[ 4.0 ha [=[
FE mr+swesl 0.0 ha |mE+zesx| 20.0 ha |=M
e A4 0.5 ha |WRA4%+ 0.5 ha |[=[
HE T+ Z Do fri 1.1 ha [+ zomorn 3.2 ha |=@E]
ZE me+mwzsz| 0.7 ha |meE+mzsz| 0.9 ha |=M
By TR 0.8 ha |MBaxEF3¢ 1.2 ha |[=ME
RE s 3.0 ha |fEE 5.0 ha |=F
EE TB1E 4.5 ha |fEfE 45 ha |=f
=088 mesz+zow| 1.6 ha |eesz<zow| 1.6 ha [=
By TB1E 13.5 ha |f&fF 27.0 ha |=[@
By B 20.8 ha |fEfE 30.0 ha |=
By e+ zomworry | 237 ha |Eerzoworn| 26.5 ha | =[]
By ftx - x| 0.6 ha|[Ex -fEK[ 2.6 ha |[=[
By e+ Ewmx| 3.2 ha |me+mumx| 4.4 ha |=
AoEL me+msE| 3.1 ha |EEr@esx| 5.6 ha |=F
HE B+ 2 Ol 2.4 ha |ezwzrzon 3.3 ha |=MH
ZRL R 0.0 ha |RE&i#8 0.7 ha |[=[
FE e+ Bes| 3.4 ha |mE+zesx| 6.5 ha |[=H
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HE fR1E 7.4 ha |fEfE 9.7 ha [=[
e TB1E 4.6 ha |fEfE 7.6 ha |=f
HE mwEzczon| 1.5 ha |mwmzczon| 1.7 ha |=fH
By we+mesx 2.1 ha |[@r+mesx| 55 ha |=fE
e B 1.5 ha |f&1E 3.0 ha |=H
3= e+ Eemz| 1.5 ha |wermemzl 15 ha [=F
By wermeEn| 8.3 ha |Er+muwsx| 11.6 ha |=fME
EhE mr+mesx| 0.4 ha |wr+mesz( 0.4 ha [=FfE
3= mirreRsE| 5.7 ha |mrrmezzz| 6.2 ha |[=[
e TB1E 5.8 ha |fEfE 6.0 ha |=fH
HE a1 7.7 ha |fB1E 7.7 ha |=H
£= TB1E 0.0 ha |fEfE 0.0 ha |=f
) B 0.0 ha |fB1E 0.0 ha |=MH
£= TB1E 0.0 ha |fEfE 0.0 ha |=f
) B 0.0 ha |fB1E 0.0 ha |=MH
£= TB1E 0.0 ha |fEfE 0.0 ha |=f
) a1 0.0 ha |fB1E 0.0 ha |=MH
g 151.6 ha 236.8 ha
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